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Topic:- Child Development & Pedagogy (CDP)

1) Which of the following is not a child-centered learning practice? / fafafead @ P Th TTA-Bigd UfTH BT AT qﬁ%"

1. Make the student more active in acquiring knowledge and skills / T 3R PR AT B H ST B AR Ffehd T

2. Make the student more aware of what they are doing and why they are doing it / ST D13 IR T 3HfUH THGRI &1 b d RT IR G H
IR T REEI

3. Working under teacher’s direction and decisions / QT&‘W *® ﬁ%ﬂ G'ﬁT ol & dgd DhIH HRAT

4. Focus on interaction, such as the use of tutorials and other discussion groups / IR faaR-fausf o e Hfea PRI, S f
NI 3R 3= 71 THGI BT SUANT BT

Correct Answer :-

« Working under teacher’s direction and decisions / ﬁrw & ﬁ%QT \ﬁ? ﬁlﬂfgﬁ > ded dIH hAT|

2) Which of the following is used in tests of attitude? / fFrafefaa & Q ferge Iy TF'ﬁqf%l' * Qﬁ&l'uﬁ o forar sran %?
1. Aptitude test / SU&TAT TRIefur

2. Achievement test / ST TRigm

3. 1Q test / YA Uteur (3SR X
4. Likert scale / forpe Tpal

Correct Answer :-

« Likert scale / ferpe Wpal

3) Multicultural awareness in the field of education includes the appreciation for and understanding of differences in students in terms of
their . | Rien & &7 ° SgaiRpla® AREwdaT 8 3% ¥ TeHf ¥ ol o Al Ft T 3R WRTeAT IfAw
gl

1. skills and abilities / PIIE 3R &Y

2. special needs and giftedness /ﬁé’m EICEEETIY \?'ﬁ?BUE:"IT

3. socioeconomic status and religious backgrounds/wm—mm 3R ‘HT%W%[&[
4. behaviours and dispositions / 4dgIR 3R WHE

Correct Answer :-

« socioeconomic status and religious backgrounds/ﬂ'lﬂ'lm-\’:ﬂf%@lﬁ 3R %rr&qugﬂi&r

4) The anti-anxiety drug is a drug whose primary behavioral effect is the reduction of anxiety but it functions as Central Nervous System
(CNS)_____. / G&-aA1d a1, T Wit gar1 § ot wrufire sageR yyTa, fRidr & &0 o @ dfed a8 ey diieraF
(HeTT) % =0 F Bl weT &

1. Activator/ SR
2. Depressant/ S[AHIGDH
3. Stimulant/ 3TST®
4. Modifier/ JRNYSH

Correct Answer :-

« Depressant/ 3dHIqPH



5) Which of the following mainly causes children to fail in examinations? / frafafaa #AF BT qJ81 =g I =l B 'T\&&‘ﬂ&ﬁ i |
FHE G BT HRUT T 32

1. Environment in the classroom /$&IT$[W&%QT

2. Physical strength /Wfﬂ%

3. Fear of Examination / ORI&T &1 8

4. Lack of patience during examination /qﬁ&ﬂ % aTF‘T aﬁaﬁ a'ﬂ:ﬂ

Correct Answer :-

« Fear of Examination /ﬁ&‘ﬂﬁ@?

6) “Learning by doing” is when learning is: / “#Yh @ a9 _&ﬁTﬂ % w9 iftnm fA= aﬂT %:
1. Teacher centred / RI&/® Hid

2. Relevant and practical / YR 3R CICHIRC

3. Passive and theoretical / FAfS5T 3R W

4. Rote or didactic / YT (ﬂ?) a7 fRrefmye

Correct Answer :-

« Relevant and practical / W& 3R TGEIRD

7) Children who deviate considerably from the normal children are known as /\_rﬁ' T NqH g ﬁ' BIBY Gﬁ '&ﬂﬁ %, 3% BN ESL
T ST AT 8:

1. Autistic children / TURTIU g (3HIfeRead fReg)
2. Abnormal children / 3THHI S

3. Intelligent children / §fGHM &=

4. Exceptional children / SR &=

Correct Answer :-

« Exceptional children / SR o=

8) Gender refers to the constructed differences in persons. / femal & Iud firsars &1 o (ﬁ?ﬂ) '\‘Iﬂﬁh CXGI
:

1. Educationally / Qe FUY

2. Emotionally / YIGTHD B0 I
3. Biologically / Sfas =u g

4. Socially / JMHT® U H

Correct Answer :-

« Socially / GG U J

9) The psychologist, who conducted experiments of trial and error learning, was i %n‘—ﬁ%mﬁﬁ? 2), ﬁl%ﬁm-gl%
ST & TR 1 ferd faam T

1. Thorndike / YT STgH
2. Kohler / W
3. Skinner / PR
4. Pavlov / LICRIE]

Correct Answer :-



« Thorndike / UTHSISH

10) The learning that happens in the formal environment is studied by ./ Suaie raTaRvr § g1 a1 SfERTH &1 gRT
rera fpar simar 31

1. Anthropologists / EIEGIEEIRI]

2. Educational psychologists / Rrem wefagR
3. Clinical psychologists / a—c‘(Tﬁa’? AR
4. Social psychologists /Wﬁiﬁﬂ:ﬁﬁsﬂzﬁ
Correct Answer :-

« Educational psychologists / fRrer q:hﬁm:ﬁ

11) Which profession uses the aptitude tests most? / fra U o \?viﬁ-l'QﬁT i BT 9IS e IuNT far sirar %?
1. Guidance Counsellor/ﬂ'l"'mﬁw

2. Doctors/ [EIETED

3. Lawyers/ CEAI]

4. Engineers/SSllTaR

Correct Answer :-

« Guidance Counsellor/ HRIGR[H RHRIB

12) Which of the following theories of motivation does not focus in any way on biological aspects and needs? / fFrafafaa & 3 gvon

P HIH-1 Rigia, Sfas uggsi oiv smazgwmarsit w fadt off v @ sae Sisa 78t sxar 82
1. Drive theory / S1gd Rygid

2. Hierarchy of needs theory / aIH TS & gl Pl YUalIhH

3. Manifest needs theory / TRG&IdT 1 RIGTd & SMa=aesd gl §

4. Instinct theory / Eﬂ%f Rrgid

Correct Answer :-

 Manifest needs theory / W&l G| Jgid P AR Eﬁ?ﬁ%

13) Which of the following is not considered a cognitive form of learning? / fFrafafea & 3 f&a st &1 Udh GEIEICE RS
T ST 82

1. Vicarious conditioning / Wmﬁ YT (ﬁw Eb_Eﬁ'QTﬁFT)
2. Latent learning / 3{oddkd 3feTH

3. Observational learning / fARCIYUNH® HfATH

4. Classical conditioning / AR Glﬂa Y @aﬁw Ei°_€ﬁ"-\"l'f?‘i"'[)

Correct Answer :-

o Classical conditioninglw @Iﬂﬁm(ﬁﬁw CRINIED )

14) Which of the following principle can be used to make the students curious about the topic?/ fFrafefaa & 3 fow Rrgia o1

ITANT BT Bt fawa & R A IS a9 & forg fomar o awar @2
1. Already know / T8d I UdT (3fTeRa! AN

2. Willing to know / ST &1 3oaT (fafeiT g =)

3. Not willing to know / ST &1 S5 A1 8141 (Afe fafeiT g

4. Don’tknow/wqm(@?:h)



Correct Answer :-

« Willing to know / ST @1 3ea51 (afef ¢ )

15) Which of the following statements is true regarding a Constructivist classroom? / fFrafafea ¥ Q S19-91 $YF TEEK
(FfaefaRe) en d Hay o g9 82

1. The classroom environment is intellectually, emotionally and physically safe. / P& T dIdTdRU] Eﬁ@?ﬁ, HIGTHSD 3R Hifdd T d

gRf&ra g =g

2. The learning process lacks structure. / ST fchar o WA &1 3THTd Bidl %l

3. Student-student interactions have no role to play in a constructivist classroom. / RCEIGIE (P rd\tiak!) FHe o BH-BH & o9 Sradid

DI BIg YA T8 Bt ]
4. The method of instruction is purely didactic in a constructivist classroom. / &= @ faftf, T T=mard} wem o yufa: e 1
Correct Answer :-

« The classroom environment is intellectually, emotionally and physically safe. / &l T dIdTGRU] m, HIGTHS 3R Wifdd T d

QfEsd g1 =T
16) In what type of memory is the skill of riding a cycle stored? | fPa UpR Y '\"ﬂﬁf | Th Wgﬁ?_d TN BT DI Tufed giar %?
1. Procedural memory / UishaIcHsh F:jﬁf
2. Iconic memory /qﬁfmwﬁavﬁ (Gmm
3. Episodic memory / PIITIcS Qﬂﬁ[ (Qﬁm ﬁ'ﬁhﬁ)
4. Declarative memory / UYUTES F{fﬂ

Correct Answer :-

« Procedural memory / UisharH® F{ﬁf

17) Self-improvement is given importance in approaches to personality. / TH-JYUR Pl AT & Eﬁﬁuﬁ'
# wgwr ol g

1. Cognitive / TIFTHD

2. Psychoanalytic / TAIARAYUHS
3. Humanistic / FadIgl

4. Biological /Sifaw

Correct Answer :-

« Humanistic / ATTGaTa

18) What kind a learner is a child who seems to learn best when carrying out a physical activity related to the subject? / Th d=IT

5 avg &1 faeneif @ o) fawg @ wefta Wi nfafaft w39 gu aew o1 draar 82
1. Aural /9T

2. Reading/writing / T3+1/cRa

3. Visual / T

4. Kinesthetic / Tlﬁma_fﬁ

Correct Answer :-

« Kinesthetic / Wma_cﬁ

19) Learning is defined as a process of bringing relatively permanent changes in the of an organism. / SftRTe Bt Udh

Eick g T sened RRf uftads am @1 ufiear & v & uurita fear mar g1
1. Behavior / JdgRR



2. Thought / ddR
3. Personality / Hfadd
4. Intelligence /§@

Correct Answer :-

« Behavior / dgR

20) In the Fearless Peer experiment by Bandura, who played the role of the model? /

FUgRT GRT 6T Y Argveier fgvuai §, feaa Aisa 31 yfae g o0
1. The experimenter / TVl

2. The fearless child / e &= =1

3. The friendly dog / fad ﬁ 3

4. The fearful child / HIHId g= 3

Correct Answer :-

« The fearless child / e a4 4

21) Study of meaning in language is known as: / HTHT T 3 & g ot HAH | ST STt %:
1. Morphology / Tt

2. Linguistics / fiifiaReay

3. Syntax / Ricaq

4. Semantics / AR

Correct Answer :-

« Semantics / Rmifeag

22) In view of Piaget the stage of development from the age 7 to 12 years is called: Rieickg SR, 7 ¥ 12 919 91 39 & faerg
BT HTRIT B HT 9141 8:

1. Concrete operational /&T‘f BIERIcCa

2. Formal operational / M=ies dfparAs
3. Pre operational /@-W

4. Sensory motor stage / Had! U= saw

Correct Answer :-

« Concrete operational /%f dfharas

23) Four limbs of the body are affected in caseof ___ ./ __ F A ® IRR & IR [T g gt %'I
1. Triplegia/@é@m

2. Biplegia / ST

3. Quadriplegia / ?ﬂm

4. Hemiplegia / %ﬂ’r@ﬁm

Correct Answer :-

« Quadriplegia / FATS @RI

24) Developing one’s personality helps in / frft & affa F e o Tgrgar gt %I
1. Quicken the process of maturation. / URUedl Bt Ufehal I ol A



2. Increasing body stature. /R IR B DG dg
3. Dealing with social situations. / STATRoT Rufaat & fFoes
4. Overcome congenital disorders. / STHGIId fapRI R mqﬁ

Correct Answer :-

« Dealing with social situations. / gt fRufaal 9 foea

25) According to Thorndike’s theory, the frequency of stimulus-response pairings determine the formation of/ !'I'Ff?.'l?ﬁﬁ FRIsia®

SNIR, FawI-ufafsar gt 5t smgfw, fe &1 e Muffra sear @
1. Reinforcements / U&cl

2. Habits / 3{Tqd

3. Punishments / GS

4. Conditioning / 3t

Correct Answer :-

- Habits / 3Tqd

26) Which of the following is an example of creative thinking? / ﬁ?ﬁr@aﬁﬁaﬁqwﬁmmm%
1. Arguing /ﬁm

2. Managing time / J99 U84+

3. Active Iistening/ﬂm Haur

4. Questioning / &-dI&

Correct Answer :-

+ Questioning / &-dl&

27) Language is which of the following types of content? / HTHT, ﬁyﬁ@aﬁﬁmwaﬂm—aﬁ %?
1. Auditory / 44Ul

2. Pedantic / = Tgard!

3. Visual / 9

4. Symbolic/ﬂm

Correct Answer :-
« Symbolic / icbfds
28) CANCELLED

Which of the following compares the human cognition to the working of a computer?/ fafafad o= W F FHBTS &
fore arrdtr 3y &Y gaeT wRar 82

1. Neural Processing / AT Wb H

2. Network mapping / Jead AT
3. Information Processing / T UhH
4. Mind mapping / H7 AR

Correct Answer :-

« Information Processing / T UshH

29) CANCELLED



What is described as the pattern of enduring characteristics that defines a person and produces consistency and individuality? / Tt

farivanait & de & wu & Fa1 afdfa Y v cafed &1 afvuria wwar 8 3ik fRRa1 vaafaia #1 S s 82
1. Personality / Hfddd
2. Leaming/&lﬁlﬂq

3. Intelligence / §@

4. Motivation / URUTT

Correct Answer :-

« Personality / Hfadd

30) CANCELLED
The term Abstract Thinking refers to / TJEGIT /%FF/W e @ gdfta %:
1. Personality / HfFdd

2. Attitude / TIgRI
3. Intelligence / Tg'@
4. Motivation / RuT

Correct Answer :-

« Intelligence / §@

Topic:- General Hindi (L1GH)

1) TS 41 A | T A A T ST | ToR-T9R A @t At | T T4, T W) 39, S geiar Y | Siel-a1 wR1 W F 9 U i B 9187
& T & uf aga o0 g5 9 T wud g€ N 7w 39 o f sure g i 7w w1 auf St w1 o= T d@<ft 1 @ e w7 FEIWRe WA
TP T i SIST 3R A €1 7 Q1| 98 Sl &) gibd ¢ Al W BT 3R Ia UsT| 3T 139 M1 33 W WP 3311 T, 34 T THa) &) 918
a1 SUD! Uelt THIval B TRHT I XH Feil T | IFA b RFd 9 3R 51 31 9l & $Y W T@PHT I UsT Wl B 3| IR A I B
frart A SwwR FeT fF M Ja Siaa S 1 g2 auf F 9 $o ot R T8 e @ 17 WA A we B 91a | FE IR ST 94 Starsia ot g
fip= oft ST fewra it ok o Tae? @d R ugd T

IR T B UgHR Y TR Y Y= HT IR Farsl
U: T & UTH B A1 AR T AT?

1. §h

2.7

.98

4. 99

Correct Answer :-

2) U o1 fhar | T A1 AT o7 ST ToR-awR A Wdl ff | T Y, T Siist 99, f9 geiar ff| ster-ar w1 R $ 9 U sius 7 9187
A a1 & auf 9ga 9 g5 1 7 v g5 A 7 IR 59 a9 o smure @ § 3% wan quf # B omn 79 deft i “a s @ wEmee WA A
TP Tl i BIST 3R A7 € 7 Qi1 98 Sl B gipd gY aIid O B 3% Tal U811 3T 37 M7 a3 FIY Wi 3311 T4, 3 9 §oiva) &) 918 @
e U Ul gHival B TRHR 3= IH Tail T | ITA R BT 78 3R 59 31 90 & $Y W I@PHR Id UST Wal B1 3R | IR A I+
el A Ae®R Bl fF “m Ta Waw S 71 e auf F @ o ot IR E g @ 17 Mr A 99 3 919 g1 $F IR TS 97 starerd o g
bz oft Su R <&t ofR o Hae) @9 W ugd T

I TR Y TSR 1 I Y I BT SR IS¢

U STV g BT TITATN e B AT 82

1. 3dTe-l

2. drg-m

3. gl T

4, 3Thi&

Correct Answer :-



3) TS T fHam | wr A 919 4T SUST| ToR-a9R aae Jat At TH T4, TP Sig) 39, 9 goival A | Sier-a1 971 R & 9 0 91 o7 9187
& T & uf aga o0 g5 B T wua g€ N 79w 39 o f smure @ i 7w w1 auf F w5 m=w T d<ft K1 Q@ e w7 wEIme WA
TP T i SIST 3R A €1 7 Qa1 98 a1 B gibd 8¢ Al WX BT 3R Id UsT| 3T 39 M1 a3 TR WP 3311 T, 34 7 THia) &) 918 @
frpTan | IS et THRAT B RBT I WM Tl T | ITA BT R 72t 3R 5@ 31 Ja F FI W I@H T UST Jal Bt 3R IRA T I BF
framl A AeeR w1 i “Thm @9 aw § 71 R auf F A o 1t R E kg @ 17 T A Ha 3 919 G FE IR TS 99 siarsta o gan
fip= it ST fewra it ok o Faee @d W= ugd T

UG T B UGB F1 TR T YA H1 I7R q419T
e o & | o v 3w o9 e

1. ST

2. 9§t

3. A

4. dRT

Correct Answer :-

4) T o1 fEarT| T 9 AT AT ST TER-TIR A Tt A1 TE Y, Te i) o9, S geiar N sSer-ur w1 W F G ug] §ieR S 96T
o 9T @ quf agd F9 g A1 T Baa g5 FF 7 °Ar11 39 99 ot 3muTe g € ¥ waT aul &) SIS SR e §eft ot | "R Saw o1 B AT A
e arEll i SISt 3R 7 € 94 Wil 98 391 B gidd gU I W B 3R T9 USTI AT 3 T 98 Y Wi 311 Y, ¥4 9 gl B a8 @
ﬁrm?mMtraﬁwﬁa‘raﬁﬁwa%a?ﬁaﬁﬁnélwﬁfﬁwf%maaeﬁaﬁ?aaaﬁ%aﬁ$m}wwaam@aaﬁah?|m%ﬁaﬁa?{
fpam A SPHR Fel f M Ja Sia= A 71 g2 auf & a) $2 ot R T8 @ T 1 T A Wa B 9 G| $S IR S0 94 siarsia ot g
bz oft ST R <&t ofR o HiaeR B9 W ugd T

I TR B Ygd} Y T T Y= PT JWR Farsl
W AT B U2

1. T fogr

2. U S

3. T TIER

4.TH IAR

Correct Answer :-

. U fraH

5) TS T fHar | a1 W 919 4T ST ToR-aR A0 Tt At TH T4, TP i) 39, 9 goival A | Sler-T1 91 W & 9 ug] 91e &7 91871
& ara | quf aga o0 g5 01 T wwa g5 N T w11 39 a9 o smure g € 8 w1 aut F Hig e T8 w5t 1 @ wae Fur s A
TP T TG SIST 3R A €1 7 ATl 98 9l B g1dd gU Al O BT 3R Id UsT| 3ATS 139 T 93 W WIHR 3311 T, 34 7 THia) &) 918
frpTan | IUF Uelt THRAT B WP 3= WH et T | ITA B Read 7Rt 3R 50 o1 36 F FI W I@HR Ta UST Fal Bt 3R 1 IRA & I 55
framl A @R el fb “m W a1 gRm? auf & d@t $o ot SR e e R 17 T A W9 B 91 G | B IR 0BT A Siarsia ot gam
fipz oft ST fewra it ok $o Wae? @d R ugd Tl

IUY TR P UGHR 1Y T T = BT IR qa15¢|
UR: T & 7§ W A S 31 faR a1 o a1 ur?
1. i 98 9gd ¥ T AT

2. Fiifh I Uell T51 Araelt T

3. TS SR TN ¥ g ot W@

4. TP T G BT DTS SR gl AT

Correct Answer :-

. P auf g HTHIS MR el 4TI

6) TS UT fHar | Tur WY A1 T ST ToR-THR A0S Fat At | TP T4, T W) 39, 9 goiear A | Sler-a1 9| R & 9 g §ie= o7 9187
& T & auf aga o0 g5 9 T wud g€ N 79w 39 o f smure @ i 7w w1 auf S Hig o= T d<ft 1 Qe Haw w7 FEIWRe WA
T el T SIS 3R 71 € O Wil 98 39l $1 gidd gu I W B 3R 79 USTI SRTd 3 Mt 98 IR W 3T T4, 39 9 gHiRal o a3
ﬁaﬂmlMwﬁaﬁﬁtﬂaﬁﬁms%wﬁa?ﬁns‘lwﬁﬁr{%maﬁﬁsﬁvsaaﬁaﬁ%$ﬂwwaﬁrw@?ﬁaﬁehﬂTlﬁﬁaﬁih‘é
forart A e FeT fF M Ja Saa S a1 g auf & 9 $o oft R T8 e @ 17 WA A we B 91 1 FE IR ST 94 Starsia ot g
fip= ot ST fewra it ok o Wae? @d R ugd T



ST T Y Ug@ A1 T Y URA BT 7R T4yl
W VAT ST SafaT ot 2

1. 08

2. SMTRITATS!

3. HIAR

4. UITet

Correct Answer :-

7) T T fHam= | T T A1 o1 I0PT | ToR-SR A0S Wl N Th T, T W) A9, F9 goiar o1 Sier-ar w1 W & 9raa uy) aies o1 arsTl
o 9T @ quf agd FH g3 A1 7 Bad g5 8 7 9Arn1 39 99 ot smure g € ¥ wan aul & $is SR e §eft <t | "2 e o e A A
e arl i SIS 3R 7 € 74 Wil 98 391 $1 gidd gU I W B 3R T USTI AT 3 M1 98 AR Wi 33T T4, 39 9 gHiRal o a8 @
ﬁaﬂmlwﬁuaﬂawﬁq’raﬁﬁwa%wﬁa?ﬁnélwﬁﬁwﬁmmsﬁ?mﬁaﬁ$$ﬂwwaﬁmﬁﬁaﬁmw@ﬁaﬁﬁ
fpam A Sw®R FeT 5 MM | Sia= A 71 g2 auf & @ $o ot R T8 e @ 17 WA A We B 91 | $S IR SUDBT 04 Siarsia ot g
5T oft IEA T T ok o WHas) Wd W ugd T[T

SR TR Bt UGHR 1 T Y YA HT ST qa1s¢|
U THIAT B B TR I[T AT ?

1. 7

2. Tifq It

3. T &1 Ut

4. IR

Correct Answer :-

o TP el

8) TH T fHa= | T T A1 AT IAPT| ToR-R A0S Wl NI TH T4, T W) A9, 9 goiar 6| Sier-a1 w1 W F 9 ug) sie o1 a1t
& ara & quf 9gd F9 g8 91 7 vaA g€ N 7 IR 79 9 +ft 3mure @ & 3% AT aul F i o= T dft K1 Qe Faw w7 FEmR” W A
o arll i SIS 3R 7 € 94 Wil 98 391 $) gidd gU I W B 3R Td USTI AT 3 T 98 Y Wi 311 T4, 39 9 gl o a8 @
froTar U Uel aH il B IReR 3¢ T Tt TS| 3T fibY fRTd 9 3R 79 Y 96 & HY W I@HR Id UST Well i 3R | IRA F S/ FS
foraml A SYp®R Pel fb T W Siaa ¥ 71 eFm? auf & d 7o ot R e R TR 17 T A 99 B 91 G| B IR 0BT A Siarsia ot gan
fpR oft IEA e T ok o Was) W9 W ugd T

ITa T B TGP A TD Y U PT SR qarsy|
U=: ‘SiaTSia’ Weg &1 T FUU § 2

9) TS T fHar | TMuT WY AT T TSI ToR-TR A0S Fat A1 TH T4, TP SiS) 39, 99 goival | Slel-T1 91 IR & [ ug] 91eH &7 9187
& ara | qul aga o0 g5 A1 T wwd g5 N T w1 39 v o smure @ € 78 w1 aut F Hig e T8 a5t 1 @ Fae Far s A
TP T TG SISt 3R A €Y ° 1| 98 Sl B gidd gU Al O BT 3R Id UsT| 3ATS 139 T 93 WY WP 3311 T, §d 7 IHia) &) 918
frpTan | IUF Uelt gHRAT B WP 3= WA Tt T | ITA R Read 7Rt 3R 50 31 36 F FI W I@HR Td UST Jal Bt 3R 1 IRA F I 55
frart 3 Aaer T fH Mm Ja e S 71 g auf F 9 $o ot R T8 @ @ 17 WA A we 3 9 1 $E IR ST 97 starsia ot g
fipR oft 3T fewia it ofR $o Wae? Wd R ugd Tl

IuYa TN BT g} - T T W= PT IR Fargyl
W 3HTITE A & F1G P A1 T ST 8 2

1. SRR

2. Bl

3. 9194

4. Y



Correct Answer :-

10) TH T fFAT 1 AT WY 19 4T IWBT| [oR-9WR A4S Dol N TP T, TH Siet 90, §9 HRat 8f | Ser-91 R 1 W F YA ug] SieE ST arsTl
& ara | qul aga o0 g5 A1 T wwd g5 T w1 39 v o smure @ € 7w w1 auf F Hig e T8 d<ht 1 @ Fae Fur s A
TP T i SISt 3R A1 €Y 6 AT 98 Sl B gidd gU Al O BT 3R Id UsT| 3ATS 13 T 93 |k WP 3311 T, §d 7 THival &l 918
frpTan | IUF Telt THRAT B WP 3= WA et TS| ITA R R 7Rt 3R 50 31 36 F F W I@HR T UST Fal Bt 3R 1 IRA F 3 55
frart 3 AaeR T fH Mm Ja a3 71 g auf F 9 $o +f R T8 @ @ 17 WA A we 3t 9 1 $E IR ST 97 starsia ot g
fip= oft 3T fewia Wit ofR $o Wae? @d R ugd T

ST TR B UgHR A I Y TR BT IR AT
URH: ToR-SWR T B 01 THH 8?2

1. G5 gAY

2. 9giife THN

3. SforityTa FHY

4, TG o

Correct Answer :-
B-T-RaE o)

11) T 4T fFAIT 1 AT WY 19 4T IWBT| [oR-9WR aa® Dol N1 TP T, TH Siiet 90, T9 HRat 8f | Ser-91 R 1 wR F A ug] SieE $1 arsTl
& wra | quf aga o0 g 01 T wwa g5 T w11 39 v o smure @ € 6 w1 auf F Hig e T8 w5t 1 @ Saex Fur s A
TP T TG SISt 3R A €1 H Q| 98 9l &) g1dd g¢ Al O BT 3R Id UsT| 3ATS 139 M1 93 WY WIdR 3311 T, §d 7 IHiva) &) 918
frpTan | 3P Uelt gHRAT B WP 3= WA Tt T | ITA R {7 7Rt 3R 50 o1 30 & I W I@HR Td UST Fal Bt 3R 1 IRA T I 55
framl A Sp®R el fb “Mm W a1 gRm? auf & dt 5o ot AR e e R 17 T A W9 B 91 G| B IR 0BT A Siarsia ot gam
fip= ot 3T fewia it ok o Wae? Od R ugd T

IUY TR F1 UGHR 1Y T T U= BT IR qa15¢|
ueA: fpa auf A auf pHgg R 2

1. U= I g

2. IR TN "

3. dFaN g

4. QTN

Correct Answer :-

. dau Y

12) T 41 P AT AR 1 4T ST | ToR-99R aa® Dl N TP T4, TH Siiet 9, 99 oAt 8f | Sier-91 )1 W F A ug] aieE $1 arsTl
& T & gl aga o0 gs 9 T wua g8 8 7w 39 o f snure @ i 7w w1 auf F w5 = A d<ft K1 Q@ Haw w7 FEIme M A
TP Tl i ST 3R A €1 7 Qa1 98 S o) gibd 8¢ Ay WX BT 3R Td UST| 3T 37 M7 73 FIX Wi 3311 T4, 34 9 THiva) &) 918 @
froTar U Udl ol B IRe 3¢ T Tt TS| 3T iR fRTd 9 3R 79 o 96l & $Y W I@HR Id UST Wall B 3R | IR F 3 FS
foraml A SYp®R PeT fF T W e ¥ 71 gRm? auf F d 7o ot R e R R 17 T A 99 B 91 G| B IR IWBT A Siarsia o gan
fpR oft IEA T i ok o Was) W9 W ugd T

SR TR Bt UGHR 1) IR Y YA HT ST qa1sy|
U: Yt o1 W<t F R AR R ?

1L.Ue S

2. 9 S &1

3. TRIYSH B

4. Bl S BT

Correct Answer :-

« G SfidH BT

13) T 4T fHAT 1 AT WY A1 4T IWBT| [oR-aR as Dol N1 TP T, Th Siet 9, 9 o Rar 8f | Ser-a1 R 1 W & A ug] SieE &1 arsTl
& 9T @ quf agd #9 g8 &t1 T waa g8 Ff 7 °ar11 39 99 ot 3muTe @ € ¥ wan) aul #) S5 = e §eft ot | "/ Siae r B AT A
TP T T BIST 3R A € 1 A1 98 9l &) gidd gY aIfid O &1 3R Id UsTI 3ATS 13 M7 93 Hak Widx 3811 T, o8| 9 IHival &l 918
freTar SUS! Uel oAl B IRER 3= WA el T | 3T fibY RTa 9 3R 79 &Y 96 & Y W I@HR Id UST Well i 3R | I H S/ S



framl A Sp®R el fb “m W a1 gRm? auf & d@ 5o ot SR e e R 17 T A W9 B 91 G| B IR 0BT A Siarsia ot gam
fpz ot ST fewra it ok o Wae? @d W ugd T

ST TR ) Tg@ A1 T Y URA BT 7R TS5y

U=: U T WUS W W S B T ST U AT {5ad g g ?
1.@gY

PACICIR

3. THRI

4.0l

Correct Answer :-
. TEY

14) TP 47 P AT AR T 4T IHDBT| ToR-93R A Dol N TP T4, TH Siiet 9, 9 oAt 8f | Sier-91 R TR P A 0] aieE T arsTl
& T & quf aga o0 g5 B T wud g€ 7 awn1 39 o f snure g i 7w wan) auf Ft Hig s A8 <t K1 QT Haw w7 wEImee M
TP Tl i ST 3R A €1 7 Qa1 98 S o) gipd 8¢ alfiy WX BT 3R Ta UST| 3T 37 M7 a3 HI Wi 3311 T4, 34 9 THiva) &) 918 @
froTar U udl aH ikl B IRex 3¢ T el TS| 39 Y fRwd 9e¥) 3R 59 o 96l & Y W I@HR Id UST Wall i 3R | IR F S F3
foraml A SYp®R Pel fF T W e ¥ 71 gRm? auf & d 7o ot R e R R 17 T A W9 B 91 G| B IR IWHT A Siarsia ot gan
f5R oft IEA e Tt ok o WHas) Wd W ugd T

ST T FT UG 1 TS TT A PT I IA1FT
Y : I T B AT B S A1 FT g
1.3 I PR Tf

2. 9

3. 4d

4. Higsg

Correct Answer :-

15) U@ 4T f5am | 711 W A1 4T ST | ToR-9R A4S Bt A | Th T, TP wiet 3d, S0 gl ff | Ser-ar w1 R & aee uy) aieq 1 areT| §9
19 & auf 9ga F9 g5 | T HdA g8 A T ARTI 39 9 oft arure T # ¥ i auf ) HiE = Tt dft | <@ awR w7 wEIe M1 A T awlt |
BIET 3R 7 € 7 W11 98 391 B i gU AT O &Y 3R Ta UST| 3T 37 71 98 HIY W 371 7MW, 6 9 614l &1 918 | T | ST et
THIE B R 37 WA Tt 781 I bR e 72 oik 50 ) ol & 58 IR T@H? 9a uST Vel F1 iR | I B I B3 sl A v w1 %
T @ S | g a6l & @ o Wt IR e i 39 1 T A W B 91a G| B IR SweT A starsta i gan fpw o Iu fewra i ok
TS AIHI Bd W Ugd T

IUGe TR B UGB A1 TR T YA BT IR qa19T
TH: ‘qIST g T 82

1. fae=h

2. AR

3. dH

4. dad

Correct Answer :-

16) CANCELLED

wifa =1 g@t Y 91, 7@ e 3,1
T HRI TRAR BT, TST X6 &l T 1l

A At & 4 by, SR Y g il |
Agatdarag R ey, ae @ gRma il

foT 7T gerizr Y vgwR R gD W 1) WA 1 IR TA15TU
URA: U UfRral o o A A § ?

1. I PR T8t

2. 99



3. 3
4. It

Correct Answer :-

17) wfe =1 g1 A1y @Y, 7@ e 3=
W ) TRAR BT, TFTI/A & & |l

Aren @ B A Ry, Sfiv iy qaaife |
wgat Y o8 Ry iRy, 9e &t g g

R 7T verizr @) yg R U@ WM 9T WA BT SR Jarst|
o= Sy I P A A g 2

1. TAtfeiT

2. TR QY IS 7Y

3. gfedm

4, TYHHIeH

Correct Answer :-

18) <ifar 7 gBY A1y #1, 7o Mg 71,1

A R} TAR BT, ST I8 &l | Il

arar @ X d 6y, <fty iy g wife |

Agar i e ¥ vy, as ot ghtr i

3T T yeriE @) TR R U WM ATt U8 1 g% Farsy|

Ty SR 7 IE) A1y B, IE <R I & arerd @ o3 A f5ad dew s e r § € 2
1. S

2. 91y

3.3

4, TR

Correct Answer :-

19) wifa =1 U@t 1Y T, 7@ AR 7147, |
A $A TRAR BT, UST I8 &l |1 1l

A A #2 4 Y, Siw By g il |
Agarat g ¥ by, e ot gl mfgn

foT 7T verizt Y vgwR T U@ W 91d R BT IR q415T1
" BT BT A R ?

1. P

2. 1%

3.48

4.3y

Correct Answer :-

. By

20) wfa 7 g@Y w1y @Y, gY@ AR 79,1
I PR GRAR BT, UST I8 &I /M I



ATe df B # ey, ot R g il |
Agarat g ff¥ sy, e o gl fgn

2T ¢ yeriy @Y veHR AR IR W1 aret U &7 IR qa13¢
UY: “UST 36 & W | T a1y 82

1. AT BT Tred

2. T H1 HgagIA g

3. ’H &1 AT AT

4, SR It

Correct Answer :-

. T & AgaEH gIFT

21) S 1 g1 A1y B, 7o AR 3161, 1
A $A TRAR BT, UST I8 & | 1l

A @ S 4 by, S By ga il |
Agatat g Ry ey, o5 ot wftew nfdn

foT 7T verizr Y vgwR R IR W 91d R BT IR T415T0
w3 a8 Ry Ry o1 o arerd @2

1. H &l Hchld

2. IRI T

3. IR ol

4. IRIHA

Correct Answer :-

o HA I HIHIT

22) wife = I@) A1y @Y, 7@ A 3,1
T I TRAR BT, UST G & =M 1l

A1e B # ey, it R g il |
Tgaiareg fof fpy, ag o gfima i

3T 71T T B TeHR R IR WA aTd 7R BT I 4l
R GARA F Sieria w1 31T § ?

1. %aq A

2. HId TR

3. Had 7

4, SR aHt

Correct Answer :-

. IWiad gt

23) wIfd =1 gB! 1Y FI, §S A 314, |
W F TRAR BT, TSI/ &l & |l

Aren A B | By, Sfiv ey qaaife |
Tgatdi gg R R, e & gfma g

2T ¢ yeriw Bt veHR AR gD W1 are U BT IR qaq13T
U= U Ui ® i 1 o A AT eRar € ?

1. S

2.3

3. R

4. SR FHt



Correct Answer :-

24) R 7 B! A1y 1, Yo Mg 71,1
e F TRAR F1, ISTI|A &l & |l

Aren @ B A By, Sfv ey qawife |
agat di gg R R, e & gfma g

T ¢ yeriw @Y vewR R gD W1 are U &7 IR qa13¢
UL: T Ufe § ek A {5 wew @1 ewiar g 2

1. '

2. dddR

3. 3R

4, IRIad at

Correct Answer :-

25) iifa <1 gB1 A1y Y, g A 3,1
T HR) TRAR BT, TST X6 &l T 1l

A A & 4 iy, SR Y g il |
Agardrag R ey, ag @ gRma il

foT 7Y geri=r Y vgwR R gD W 1) R 1 IR T4A15TU
URH: TR Xeg $T YGTaare Jeg T LI & ?

1. U

2. 9gT

3. 3Ry

4. NHY

Correct Answer :-

26) S =1 YB1 AY P, I H0Y I1, |
T HRI TRAR BT, UST I &l T 1l

TTar @ FR A by, Shy Ry g AR |
Agarat g ff¥r sy, e o ghwa fdn

3T 7T¢ v B TeHR R IR WA a1d 9= BT I a4l
TR 7 P! a1 @A 8 2

1.3

2. 9Ua

3. IR fe=mafi |

4. R |

Correct Answer :-

. IR femmeft A
27) I <1 gB1 WY Y, g A 79,1
e F TRAR F1, USTI|A & & |l

Aren @ B A By, Sfu ey qawife |
wgatarag R ey, o5 @ gfe ifgn

T ¢ yeriw Bt vewR R IR W1 are U T IR qq13T
w: At at qE RAY Y, e R g i i A sl A R e w1y fem 2



1. YfdT 1
2. DT
3. If b1
4. PHBIUS BT

Correct Answer :-

. HHBIUS BT

28) wIIfe 1 U@ A1y Y, IO AT 31,1
Hie H) TRAR BT, UST 6 & | Il

T o B § Y, oy iRy g aiie |
Agatdrag R iy, o @ gRma g

foT TI¢ gerizr Y vgwR R IR W 91 R BT IR T4A15TU
UR: FAR A JARA frd T a8 2

1. $ad Sty gaH Bl

2. g 7 B =R} faxmsfi # gHH Bt

3. Bael HIC A B

4. IORIa It

Correct Answer :-

. IWiad gt

29) wIfd =1 g@! 1Y FI, 7@ A 74, |
I F TRAR BT, USTIA &l = |l

Aren @ B A By, Sfw ey g wife |
#at dt o Ry R, e <t gftwa il

2T ¢ yeriw @Y vewR AR IR W are U BT IR qaq13T
URH: ‘\ATY’ g BT TATORT T 82

1. Tyt

2. qTeAt

3. 1YS
4, e

Correct Answer :-

. e

30) wfe 7 U@ 91y B, 1@ Afe 3161, 1
A HA TRAR BT, UST I8 & | 1l

e df B A by, oty ey @ il |
waaratag ¥ fby, e ot g mfen

T 7T e Y uewe A9 IR o 9Te UR 7 SR a5yl
Uy gRRT ST f B 2

1. HTTGT & TH BT FROT

2. Y B

3. G B U BT

4. TIPS TN

Correct Answer :-

« YA & 9 T R0

Topic:- General Sanskrit(L2GS)



1)
Feligedy fahedy &: faweT e ?

4, 29"

Correct Answer :-

3)

§R¢oo
L

{¢oo
2.
00000

, 2¥¢oo0



Correct Answer :-

00000

5)

TRTAE IfScal TRAET YA I -

A AFAIREAVRT 370 AR | 3T FT;, HUEIUTL:,
tnTranfr IO ST AHEAOT | 3 IE: JiaSeET ST, QeRd:
o=, HeATA IO O, qehed far = |
3 TN IAeddGURA  RH-IJA-AH  -3Ud- TYoT Tger fassy
Jecar:” 3fa uRiEisstad | ¢ A dele IEAd deAd SO
SId:’|

T HEHARAET &dl | AR 3felepliel 3UTEElsl Hiod
A IJed IS TSN Jded | IJUN dalell AR: R dod
FAEHIRA * IogAl dg: 3fa ufdddl AgRaed ¢ S 530 AHed
IECU

AHAGNUT 3iseigel ot 3uquonfa o faf@arfa | qufr @9 sfa
WOy fasufed: | WO SAEEdRUALETH, 3cpte edid |

SEAGATOT HETHR onfel T T@Ricar 31 JEcATH: HeT2fed ATl |
Hd: ARGIUGA HARIGd: A FUENRT [ATEd Meaawsisid |
HYVGATET  qfUiATies]  “IRqotaAr  3ferar “ egmquAr sfd S
AT | dfeel e AT $dfed | & Ass: AR add |

HETHRAET ST H [hATEd-
o

STIT

2.

L4 B2

3.

Tﬂd?ﬁ
=]

4.

Correct Answer :-



el TfScar JfACSeET TaAed ASHN I -
AT o TaeAT & ol o &led Aled o el of oM of era: |

o A el SIS HTSIEUTT FHIMT o ||

AT & forar Af Tasmard Bad feas |
FRIBRUTALAY idfed g ||

T’ HET 3T AT |

? eeiehl afocar senfAfdsera I YgHR FIad -
e cadegrafaAalsaTerRac s AT §&d TR |
37629 TTARY 38 T Fed YA ST 8T Jool o ||

qasleHehd el 6 ad(HTd HeAd |

C

AT TEYHRUT Tced hATGdiogd: ||
Tdd GafATd ®edd |




eellent gfScar srenfafdscey weaey qgAck Faad -
el iaelsAelucatsl AN gad THT |
e TR 38 T Hed gHATS T 1l 7T I ||

qdoieHehd el e adiAfd H |

c

AT JEYPRUT Tced HGd fogd: ||

STIET HdsT 3¢ UG TgFdH |

" ol ufScar srenfaféseey ye=ey YEHN FaIId -
AMecaTeaaiaellsaTerR el AT &g THT |
3G TR 38 T Fed gATSTT ST & ool ||

qdsteHgd S e Gafafd Haad |

AT JEYDROT Teel BTG Togid: ||
TAd sged ST |




Sa:
SlodH
goa:

1.
2.
3.

Correct Answer :-

™ oelip! dfscar srenfafeseer ey UGHc FaTd -

ANT o7 faeam = quT o &le AT o ffel o oM o &3 |
o A clleh TSRS HISIRUTT FHIMeT o ||
AT fA faar afa Tasmarg Baw ad |
PRAIBRUTILAY fafed fedgsd: ||

TIAET U ffSor: safed |



uR=ae gfocar U2=TEg ﬂﬁdgrdi g -

ARG Ied  hH-SRIHNG-GSCATHRATH  JcAraN:  dRAsfA:  HIedT
HAAA| dal UG &I HAglcHe: 3adN: 3Hedd| il FUdl 38
FREM AT Il o Taliel qadr qeared odl aged: 31
CEAL A E OGN CRIE ]
SAIfAfdel #Wd Gaoran: 99 ol ARRAsAfd’ sfa sdarel Tdd #car &a:
Hehed FOA: FA dEA: Hodid SeHAEedHd  SHARI] fohed card
POURY SelelleciA. Td IRIEGTOT: FeaT: 3HeTaeT| Fraferem: I&ﬂ'«ﬁ EREEE
TMHolH IS T T TANT Feetd §&d d AU dEA I d&
THAHAACA| TeRd TRI-Ueed Yol Hd: TALTTSA, o T dlicier Riema
f&ictar AT |
fohrd TE e FOUT: oy HIAAT: MG HE 3Wed| oF ufdfes
IIAGT: F:  STelellel-Uele-3NINUT-gefidIge-aiaeid-alelliGia:  dacdisl
AT fAarae: Aeaageniaamnid |

ToheT T HETIHAVT IR FURMH 3FTEA| dF hd: 3T Ty
3 Al T Tol Jerdl AIFSr: i hersapsy aREdelsaaad
3agd 9 | 8 U 3389 FRERG Affcar  aafdgras
gfasoIidare |
HEHIRA-Jg AP FOET ISHT FCAUR: 30 T @A ey
ARfAHA| T T 3oled: Yolel O] O afeue: aFad e
TSCaT AIGH 3INTSd dal s9Tare] AGeor: g8 fidrm: 398+ 3aid |
MAATA A 3FcIH, 3ufesed Al TeadsT TARTT AIUHEY

THITAY IRITUA|
uedld I AIFS: GARRAN USATEgHAH, 3fefd| ddd a8 sSedddl
UA: IS, | AT w&fAT  RRAqEAfeadasid 13T

HRATT: doelld FAod, a8 Uldan: Yerdfed, Hudfed o -
“FUIE] AT, T, |

aq@r sfd yeTy gHEAT R AGHTEd -
IE:ER

1.



MEER
9. 2

Correct Answer :-

L b
hUSAlAd

2. =
drel:

3. )



uR=ae gfocar U2=TEg ﬂﬁdgrdi g -

ARG Ied  hH-SRIHNG-GSCATHRATH  JcAraN:  dRAsfA:  HIedT
HAAA| dal UG &I HAglcHe: 3adN: 3Hedd| il FUdl 38
FREM AT Il o Taliel qadr qeared odl aged: 31
CEAL A E OGN CRIE ]
SAIfAfdel #Wd Gaoran: 99 ol ARRAsAfd’ sfa sdarel Tdd #car &a:
Hehed FOA: F dEA: Hodid SeHAEedHd  SHARI] fohed &ard
POURY SelelleciA. Td IRIEGTOT: FeaT: 3HeTaeT| Fraferem: I&ﬂ'«ﬁ EREEE
TPl IS T T TANT Feetd §&d d AUl dTA I JE
THAHAACA| TeRd TRI-Ueed Yol Hd: TALTTSA, o T dlicier Riema
f&ictar AT |
fohrd TE e FOUT: oy HIAAT: MG HE 3Wed| oF ufdfes
IIAGT: F:  STelellel-Uelel-3NINUT-defidIged-aiaeid-alelliGia: a3l
AT fAar@e: Aeaageniaamnid |

ToheT T HETIHAVT IR FURMH 3FTEA| dF hd: 3T Ty
3 Al T Tol Jerdl AIFSr: Hd hesapsy aREdeIsaaad
3agd 9 | 8 U 3389 FRERG Affcar  aafdgas
gfasoIidare |
HEHIRA-Jg AP FOET ISHT FCAUR: 30 T @A ey
ARFATETAA| I&T T 3fole: Golell T T deafeus: ey feuas
TSCAT HIGH 3UNTESd dal #Tals] AHSoT: g M 3ucers 3eid |
MAATA A 3FcIH, 3ufesed Al TeadsT TARTT AIUHEY

THITAY IRITUA|
uedld I AIFS: GARRAN USATEgHAH, 3fefd| ddd a8 sSedddl
UA: IS, | AT w&fAT  RRAqEAfeadasid 13T

HRATT: doelld FAod, a8 Uldan: Yerdfed, Hudfed o -
“FUIE] AT, T, |

ufdiesTd S+ HAMN: 3TARE-
dcydy:

1. 2






TRTAC ISl TRATT YA I -

A AAARGURT 30 AT, | 38T FT;, FICIII:,
waﬁmgﬁm|mwaﬁmm QIeFd:
gi:, TcaadaRRAn: =, AHET AT T |
3T UM IHeAeddefIH FHb-TMH-AH -3d- FoT dIqei faersa
"Jecar:” sfa uflEissiad | ¢ AU dolel IEAd dEAd SO
S|

3T HAGHRAET &l | HRA Iehlel 3UTEIEN Hlod |
IfEAA Ied IS TAIol dced | Ui delell AR: #Rd ddd
FEHRA * 959Ar dar 3fa ufdddl ASRaEd ¢ S 530 A
faeaa |

CUTHAEIYUN 375cTeel QU 3uRONta 7 faf@drfa | quiy #9a7 sfa
WOy fAsufed: | WO AEEARUAGETH  3che did |

SEFRYANOT FEHRA QO o TaRdcar 310 deedrd: Fenenfed wAlefsid |
3Hd: ANGIG HREd: A FUEaRd fafered anfeamsed |
FATled | dfead camaed T hdfed | §: Avs: Sar: add|

Jearafa ufae: sRufAcARET-
. ThisfT o
CACE IR

2.

HETARAIAAH
3.

YU AH

4, =

Correct Answer :-



eelleht gfScar srenfafésery geaey gdaca Faad -
MfecaaaaiaellsAel et fANd gad THT |
36T AT 38 T e gATSTT ST 78T I ||

JasTeHehd A o6 adiald Hedd |

AT JEYHRUT Tced G fogd: ||
Ud GENUT Tced AT |

1. aﬂﬂ-

, g

fo



9ailenl gfocar srafafésesa ey ﬂagaj,cdi qad -

ANT o1 faen = Ul = gle e o ffel & oM o &3 |
o FcAeilch ITAsTeIAT HeTsTEUTT FIMLE e ||
AT fAF ar afa Taemarg Rag Ra# |
PRIRRUTALAY fafed fedgsd: ||

T 39 HJSARTo |

1.TI- :



uR=ae gfocar U2=TEg ﬂﬁdgrdi g -

ARG Ied  hH-SRIHNG-GSCATHRATH  JcAraN:  dRAsfA:  HIedT
HAAA| dal UG &I HAglcHe: 3adN: 3Hedd| il FUdl 38
FREM AT Il o Taliel qadr qeared odl aged: 31
CEAL A E OGN CRIE ]
SAIfAfdel #Wd Gaoran: 99 ol ARRAsAfd’ sfa sdarel Tdd #car &a:
Hehed FOA: F dEA: Hodid SeHAEedHd  SHARI] fohed &ard
POURY SelelleciA. Td IRIEGTOT: FeaT: 3HeTaeT| Fraferem: I&ﬂ'«ﬁ EREEE
TPl IS T T TANT Feetd §&d d AUl dTA I JE
THAHAACA| TeRd TRI-Ueed Yol Hd: TALTTSA, o T dlicier Riema
f&ictar AT |
fohrd TE e FOUT: oy HIAAT: MG HE 3Wed| oF ufdfes
IIAGT: F:  STelellel-Uelel-3NINUT-defidIged-aiaeid-alelliGia: a3l
AT fAar@e: Aeaageniaamnid |

ToheT T HETIHAVT IR FURMH 3FTEA| dF hd: 3T Ty
3 Al T Tol Jerdl AIFSr: Hd hesapsy aREdeIsaaad
3agd 9 | 8 U 3389 FRERG Affcar  aafdgas
gfasoIidare |
HEHIRA-Jg AP FOET ISHT FCAUR: 30 T @A ey
ARFATETAA| I&T T 3fole: Golell T T deafeus: ey feuas
TSCAT HIGH 3UNTESd dal #Tals] AHSoT: g M 3ucers 3eid |
MAATA A 3FcIH, 3ufesed Al TeadsT TARTT AIUHEY

THITAY IRITUA|
uedld I AIFS: GARRAN USATEgHAH, 3fefd| ddd a8 sSedddl
UA: IS, | AT w&fAT  RRAqEAfeadasid 13T

HRATT: doelld FAod, a8 Uldan: Yerdfed, Hudfed o -
“FUIE] AT, T, |

qTSe PIS ScATT UGET 3A: HTEd-
TRl o



Correct Answer :-

Tl A

22)

RS Tfocar U qGHCR AT -

AR AACARIURY 31 AT, | ¥ FT;, FIUCIUI:,
URRR: SOV 3fd Aol | 3T cO: aiasesd ovdl, 0ad:
i, HeAA oA O, e ar = |

3T AN IAeddcU A Hb-IE-TH  -3ud- FOT Iqel  [ersy

"decdr:” 3fd ufdElsHad | ¢ f9cud da| IEA dEA A9
S|

3T HEARGET &l | #ARA 3eAeplial 3UTEAEANS Hied |
A I IS TSN Jeled | TGO dalll AN: R ddd |

FAERA * UsgAr dg:’ 3fd ufdad| #AgeiRasy ¢ JF 530 Al
faead |

CATHAE UM 375cTeel  RIOMT 3URON 7 faf@arfsr | qufr a9 sfa
WUIeEd  fAsafed: | WO AETdRIVACEdH, 3cpse eTafd

SEAGAOT FEHRA WONTA I TPl AT deea: FeArelfed =ATeld |
3l: ANGIYGRI HEEd: dH FOER e efcdddsTd |
HVIGATHET  GfUiATiesT  “IRqfotar  sferar “ egrEqiuiAr sfd S
garRfed | dfee aree e ddfed | @ Ass: IRl add|

tlTrU‘rgr fehAceptee 3TTed-



B}

4.

Correct Answer :-

2 oot ufscar srenfafesery Ay EH FaAId -

ST =7 faeT o7 Y & Gled ATt o7 <flel o IO o & |
o HAL el SIS HISIEUTT FHIMT o ||
AT A7 ar Afa Tasmard Bag &a#d |
FRABRRUTIRA idfed fEdged: ||

IAI, 3 fedgga: siafed |



uR=ae gfocar U2=TEg ﬂﬁdgrdi g -

ARG Ied  hH-SRIHNG-GSCATHRATH  JcAraN:  dRAsfA:  HIedT
HAAA| dal UG &I HAglcHe: 3adN: 3Hedd| il FUdl 38
FREM AT Il o Taliel qadr qeared odl aged: 31
CEAL A E OGN CRIE ]
SAIfAfdel #Wd Gaoran: 99 ol ARRAsAfd’ sfa sdarel Tdd #car &a:
Hehed FOA: F dEA: Hodid SeHAEedHd  SHARI] fohed &ard
POURY SelelleciA. Td IRIEGTOT: FeaT: 3HeTaeT| Fraferem: I&ﬂ'«ﬁ EREEE
TPl IS T T TANT Feetd §&d d AUl dTA I JE
THAHAACA| TeRd TRI-Ueed Yol Hd: TALTTSA, o T dlicier Riema
f&ictar AT |
fohrd TE e FOUT: oy HIAAT: MG HE 3Wed| oF ufdfes
IIAGT: F:  STelellel-Uelel-3NINUT-defidIged-aiaeid-alelliGia: a3l
AT fAar@e: Aeaageniaamnid |

ToheT T HETIHAVT IR FURMH 3FTEA| dF hd: 3T Ty
3 Al T Tol Jerdl AIFSr: Hd hesapsy aREdeIsaaad
3agd 9 | 8 U 3389 FRERG Affcar  aafdgas
gfasoIidare |
HEHIRA-Jg AP FOET ISHT FCAUR: 30 T @A ey
ARFATETAA| I&T T 3fole: Golell T T deafeus: ey feuas
TSCAT HIGH 3UNTESd dal #Tals] AHSoT: g M 3ucers 3eid |
MAATA A 3FcIH, 3ufesed Al TeadsT TARTT AIUHEY

THITAY IRITUA|
uedld I AIFS: GARRAN USATEgHAH, 3fefd| ddd a8 sSedddl
UA: IS, | AT w&fAT  RRAqEAfeadasid 13T

HRATT: doelld FAod, a8 Uldan: Yerdfed, Hudfed o -
“FUIE] AT, T, |

e AU SR 3RT At



” ocli! ufsear srifAfitery Teted e Faad -
AMecaTeaaiaellsaTerR el AT &I T |
3G TR 38 T Fed gATSTT ST & ool ||

qasteHgd S e Gafafd Haad |

AT, GEIRRUT Yoo FATGATogdt: ||
Hoed' ey TaRIvuriAGH |

* odiie! gfecar sefafesesy ueaey YEHN FIId -

ST &7 faeT o7 oY & &lel ATt o7 eflel o IO o & |
o HAL el SIS HTSIEITT FHIMT o ||
AT A TUar afa Tasmarg Bay & |
PAPRUIARTA sidfed RaTed: ||

‘AT leh:’ TR Tafd|






uR=ae gfocar U2=TEg ﬂﬁdgrdi g -

ARG Ied  hH-SRIHNG-GSCATHRATH  JcAraN:  dRAsfA:  HIedT
HAAA| dal UG &I HAglcHe: 3adN: 3Hedd| il FUdl 38
FREM AT Il o Taliel qadr qeared odl aged: 31
CEAL A E OGN CRIE ]
SAIfAfdel #Wd Gaoran: 99 ol ARRAsAfd’ sfa sdarel Tdd #car &a:
Hehed FOA: F dEA: Hodid SeHAEedHd  SHARI] fohed &ard
POURY SelelleciA. Td IRIEGTOT: FeaT: 3HeTaeT| Fraferem: I&ﬂ'«ﬁ EREEE
TPl IS T T TANT Feetd §&d d AUl dTA I JE
THAHAACA| TeRd TRI-Ueed Yol Hd: TALTTSA, o T dlicier Riema
f&ictar AT |
fohrd TE e FOUT: oy HIAAT: MG HE 3Wed| oF ufdfes
IIAGT: F:  STelellel-Uelel-3NINUT-defidIged-aiaeid-alelliGia: a3l
AT fAar@e: Aeaageniaamnid |

ToheT T HETIHAVT IR FURMH 3FTEA| dF hd: 3T Ty
3 Al T Tol Jerdl AIFSr: Hd hesapsy aREdeIsaaad
3agd 9 | 8 U 3389 FRERG Affcar  aafdgas
gfasoIidare |
HEHIRA-Jg AP FOET ISHT FCAUR: 30 T @A ey
ARFATETAA| I&T T 3fole: Golell T T deafeus: ey feuas
TSCAT HIGH 3UNTESd dal #Tals] AHSoT: g M 3ucers 3eid |
MAATA A 3FcIH, 3ufesed Al TeadsT TARTT AIUHEY

THITAY IRITUA|
uedld I AIFS: GARRAN USATEgHAH, 3fefd| ddd a8 sSedddl
UA: IS, | AT w&fAT  RRAqEAfeadasid 13T

HRATT: doelld FAod, a8 Uldan: Yerdfed, Hudfed o -
“FUIE] AT, T, |

3T Gd: v ARIAIT FAfATder Ta=-



28)

UR=de 9fdcar Uy %:I‘&Qﬂrdi gIad -

A AAARGURE 300 3T, | ¥ FT;, FICII:,
URRRY: SIGUAYT: 3fd Aol | 3T cI: aiasesd ovdl, UqFd:
gia:, GcIad IR q:, AHEd fTar T |

30 UM HeAeddefH  Hb-IMH-AEH  -3d- ToT Iqei sy

"decard:” sfd ufdglsHad | ¢ TdcuE dell TEA dEA oI
SR

3T HEHARAET &l | #ARA 3edepilel 3UTCAES Hied |
A I IS TSN dcled | TGOl delll ARX: #Rd ddd |

AR ‘ Usd#Al da:’ sfd Ufdd#H| AgRAdET ¢ S 33U dAHd
facad |

ATHAE UM 375cTeel UM 3URON 7 faf@arfsr | qui a9 sfa
WOy fAsufea: | WO AETdRUHAGS T 3chse  eTdtd

SEAGAOT FEHRA UM T T Al AT dSedd: FeArelfed =ATed |
Hﬁzﬂmﬂﬁmﬁ:ﬂmmﬁﬁw&ﬂﬁﬂﬂml
FATRET | dfeel e AT Fdfed | F: AtS: AR Jdd |

AT Ut vdt &a-
Tcuadrssat

1.



Tcagarairet
4.
Correct Answer :-

. HeAadToRreRt

*) HATIREHTT: THERE FHTEAe] Tl qfoTe: ?

. 98

1£°)

2.

ey

3.

(40
4,

Correct Answer :-

-1



TRTAC ISl TRATT YA I -

A AFAANIURET 3T AR, | T FOT, FOUGIURE:,
ORIRAT: JEIRI0T: 5fd AU | 3T A aiasassT oItdl, QU6
gi:, TcaadaRRAn: =, AHET AT T |

3T UM IHeAeddefIH FHb-TMH-AH -3d- FoT dIqei faersa
"Jecar:” sfa uflEissiad | ¢ AU dolel IEAd dEAd SO
SId:’|

3T HAGHRAET &l | HRA Iehlel 3UTEIEN Hlod |
A, Fo HSCIGY Aol dded | TUN dglll AR: #Rd dadd |
FEHRA * 959Ar dar 3fa ufdddl ASRaEd ¢ S 530 A
e |
TGO rsereer  qUONfA sTgen 7 fafEaf® | quiy Faer sfa
RUeEy  fasgfed: | WOY  AREARVAGTH 3cps  #afd |
SEFRYANOT FEHRA QO o TaRdcar 310 deedrd: Fenenfed wAlefsid |
3Hd: ANGIG HREd: A FUEaRd fafered anfeamsed |
FATled | dfead camaed T hdfed | §: Avs: Sar: add|

URESS SUCAH 3T v 3ifeaeTef Tyedafea-

SRILE

2.

39dgH

3.
4 T

Correct Answer :-

Topic:- English (ENG)

1) Choose the synonym for the underlined word in the given sentence.

Their uncouth laughter sounded loud in the room.

1. gracious



2. suave
3. civilized

4. coarse

Correct Answer :-

e coarse

2) Choose the antonym for the underlined word in the given sentence.
The instructions look very complicated, but I will try to fix it.

1. tortuous

2. meandering

3. convoluted

4. straightforward

Correct Answer :-

o straightforward

3) Choose the appropriate suffix to get the noun form of the underlined word in the given sentence.

The Taj Mahal is a magnificent building.

1. magnificence
2. magnanimous
3. magnanimity

4. magnificently

Correct Answer :-

» magnificence

4) Choose the appropriate modal to fill in the blanks.
Ifit____ rain, they will not come.

1. can

2. may

3. might

4. should

Correct Answer :-

 should

5) Choose the appropriate adverbial clause to fill in the blank.
The stolen goods were found

1. outside the garage

2. where the dacoits usually hid things

3. in the dacoit’s hiding place

4. and the police confiscated them all

Correct Answer :-
» where the dacoits usually hid things
6) Choose the appropriate tense to fill in the blanks.

Everyday, the shop at 8 in the morning.



1. will opens
2. would opened
3. opens

4. open

Correct Answer :-
e opens

7) Choose the appropriate phrase preposition to fill in the blank.
introduction, he made some pertinent remarks.

1. On way of

2. On the way

3. By way of

4. In the way

Correct Answer :-

* By way of

8) Choose the appropriate phrase to fill in the blank.
She _______the people standing nearby.

1. yelled at

2. yelled into

3. yelled out

4. yelled off

Correct Answer :-

9) Choose the appropriate articles to fill in the blanks.

__ hourat___ house is enough to give you an impression about the family that lives there.
l.a,a

2. a,an

3.an,a

4. an, an

Correct Answer :-

10) Choose the appropriate noun clause that could replace the underlined part of the given sentence.
hurts me.

1. Cheating

2. The statement

3. That you should cheat me

4. Even the thought of his suffering

Correct Answer :-
» That you should cheat me

11) Choose the appropriate idiom to fill in the blank.



There willbe _______in today’s interview.
1. no holds barred

2. holding pattern

3. hold of

4. hold all

Correct Answer :-

» no holds barred

12) Choose the appropriate idiom to fill in the blank.
Despite the slump in crimes, the Superintendent has been
1. at the wrong foot of the sergeant

2. running the sergeant off her feet

3. landing the sergeant in her feet

4. rushed the sergeant into her feet

Correct Answer :-

« running the sergeant off her feet

13) Choose the appropriate determiner to fill in the blanks.
The climate of Belgavi is like _____ of Pune.

1. these

2. this

3. that

4. those

Correct Answer :-

« that

14) Choose the option that correctly changes the voice in the given sentence.
The officer asked me my name and he jotted it down.

1. I asked my name by the officer and jotted it down by him.

2. I was asked my name by the officer and it was jotted down by him.

3. My name was being asked and had been jotted down by the officer.

4. My name was asked by the officer and he jotted it down.

Correct Answer :-

« I was asked my name by the officer and it was jotted down by him.

15) Choose the option that correctly changes the voice in the given sentence.
The captive was bound to a tree.

1. The captive was bound to a tree by someone.

2. A tree was bound to the captive by someone.

3. Someone bound the captive to a tree.

4. Someone bound the tree to a captive.

Correct Answer :-

« Someone bound the captive to a tree.



16) Choose the option that best transforms the simple sentence into a compound sentence.
To his eternal disgrace, he betrayed his country.

1. His betrayal of the country brought him disgrace.

2. He was disgraced by the betrayal of his country.

3. Eternal disgrace is the result of the country being betrayed by him.

4. He betrayed his country, and this was to his eternal disgrace.

Correct Answer :-

» He betrayed his country, and this was to his eternal disgrace.

17) Choose the option that best transforms the given interrogative sentence into an assertive sentence.
Why waste time reading trash?

1. Is it wasting time when one reads trash all the time.

2. It is extremely foolish to waste time in reading trash.

3. Must you waste time reading trash foolishly

4. Wasting time is foolish because one reads trash, isn’t it?

Correct Answer :-

« Itis extremely foolish to waste time in reading trash.

18) Which of the following is not one of the characteristics of English Language?
1. It is evolving over the years

2. It is used for communication

3. It is inborn and need not be learnt

4. It is acquired through training

Correct Answer :-

o Itis inborn and need not be learnt

19) Which of the following is true in the context of using effective teaching learning materials in class?
1. Teaching without any materials helps in enhancing creativity

2. Use of materials fail to break the monotony of the teacher-centered classrooms

3. Use of relevant materials makes completion of the task very difficult

4. A task without any material seems quite boring and burdensome

Correct Answer :-

A task without any material seems quite boring and burdensome

20) Read the following letter and answer the given question.

To,

Whomsoever it May Concern

I have had the pleasure of employing Joy Jen for five years. Joy has handled many responsibilities in these five years. She has handled
customer interaction, inventorying, and content writing for our website, Joy is an intelligent, responsible, energetic lady who never loses
her cool in any crisis. I am sure that Joy will perform any responsibility given to her with care and maturity.

Yours sincerely

Susan Sanders

CEO

J.0. Enterprises

According to Susan, which of the following comments is true about Joy?
1. she will be composed in the face of a crisis
2. she will panic in the face of a crisis

3. she will handle all crisis with trepidation



4. she will handle all crisis with apprehension

Correct Answer :-

« she will be composed in the face of a crisis

21) Read the following report and answer the question given below:

Healthy Eating Mela

Students from the Ganapur High School organized a Healthy Eating Mela to spread the message of good food habits. The competition
included events like Cooking without Fire, Conjuring Salads, and Watch the Calories. Our chief guest for the day was the famous nutritionist
Ms. Kamala Madhav. She spoke to the students about what is healthy and what is unhealthy food. The day must certainly have found
several converts from junk to healthy food.

Based on this given report, what does the author say must have been the consequence of the event?
1. Students would abandon healthy food habits and turn to junk food

2. Students would give up junk food and adopt healthy eating habits

3. Students would think that junk food is healthy and continue to eat it

4. Students would understand that junk food is not unhealthy

Correct Answer :-

« Students would give up junk food and adopt healthy eating habits

22) Read the passage carefully to answer the given question:

Make in India initiative was launched on September 25, 2014, with the primary goal of making India a global manufacturing hub, by
encouraging both multinational as well as domestic companies to manufacture their products within the country. Led by the Department of
Industrial Policy and Promotion, the initiative aims to raise the contribution of the manufacturing sector to 25% of the Gross Domestic
Product (GDP) by the year 2025 from its current 16%. Make in India has introduced multiple new initiatives, promoting foreign direct
investment, implementing intellectual property rights and developing the manufacturing sector. It targets 25 sectors of the economy which
range from automobile to Information Technology (IT) & Business Process Management (BPM), the details of each can be viewed on the
official site. It also seeks to facilitate job creation, foster innovation, enhance skill development and protect intellectual property. The logo
of ‘Make in India’ — a lion made of gear wheels — itself reflects the integral role of manufacturing in government’s vision and national
development.

Apart from making India a global manufacturing hub, the Make in India initiative seeks to do a few more things. Which one of the following
options in NOT one of them?

1. safeguard intellectual property
2. encumber skill development
3. nurture innovation

4. succor job creation

Correct Answer :-

» encumber skill development

23) Read the passage carefully to answer the given question:

Make in India initiative was launched on September 25, 2014, with the primary goal of making India a global manufacturing hub, by
encouraging both multinational as well as domestic companies to manufacture their products within the country. Led by the Department of
Industrial Policy and Promotion, the initiative aims to raise the contribution of the manufacturing sector to 25% of the Gross Domestic
Product (GDP) by the year 2025 from its current 16%. Make in India has introduced multiple new initiatives, promoting foreign direct
investment, implementing intellectual property rights and developing the manufacturing sector. It targets 25 sectors of the economy which
range from automobile to Information Technology (IT) & Business Process Management (BPM), the details of each can be viewed on the
official site. It also seeks to facilitate job creation, foster innovation, enhance skill development and protect intellectual property. The logo
of ‘Make in India’ — a lion made of gear wheels — itself reflects the integral role of manufacturing in government’s vision and national
development.

According to the passage, which of the following is not among the sectors of economy about which details could be obtained from the
official website?

1. Information Technology



2. GDP
3. BPM

4. Automobile

Correct Answer :-

« GDP

24) Read the passage carefully to answer the given question:

Make in India initiative was launched on September 25, 2014, with the primary goal of making India a global manufacturing hub, by
encouraging both multinational as well as domestic companies to manufacture their products within the country. Led by the Department of
Industrial Policy and Promotion, the initiative aims to raise the contribution of the manufacturing sector to 25% of the Gross Domestic
Product (GDP) by the year 2025 from its current 16%. Make in India has introduced multiple new initiatives, promoting foreign direct
investment, implementing intellectual property rights and developing the manufacturing sector. It targets 25 sectors of the economy which
range from automobile to Information Technology (IT) & Business Process Management (BPM), the details of each can be viewed on the
official site. It also seeks to facilitate job creation, foster innovation, enhance skill development and protect intellectual property. The logo
of ‘Make in India’ — a lion made of gear wheels — itself reflects the integral role of manufacturing in government’s vision and national
development.

Which of the following options best expounds the logo of Make in India as given in the passage?

1. the lion indicates the integral role of the foreign manufacturing sector and the gear wheels symbolize their nation

2. the lion indicates the integral role of the multinational companies and the gear wheels symbolize the domestic companies
3. the gear wheels indicate the integral role of the Indian manufacturing sector and the lion symbolizes the nation

4. the gear wheels indicates the integral role of the Information Technology and the lion symbolizes the Business Process Management (BPM)

Correct Answer :-

« the gear wheels indicate the integral role of the Indian manufacturing sector and the lion symbolizes the nation

25) Read the passage carefully to answer the given question:

Make in India initiative was launched on September 25, 2014, with the primary goal of making India a global manufacturing hub, by
encouraging both multinational as well as domestic companies to manufacture their products within the country. Led by the Department of
Industrial Policy and Promotion, the initiative aims to raise the contribution of the manufacturing sector to 25% of the Gross Domestic
Product (GDP) by the year 2025 from its current 16%. Make in India has introduced multiple new initiatives, promoting foreign direct
investment, implementing intellectual property rights and developing the manufacturing sector. It targets 25 sectors of the economy which
range from automobile to Information Technology (IT) & Business Process Management (BPM), the details of each can be viewed on the
official site. It also seeks to facilitate job creation, foster innovation, enhance skill development and protect intellectual property. The logo
of '‘Make in India’ — a lion made of gear wheels — itself reflects the integral role of manufacturing in government'’s vision and national
development.

According to the passage, which of the following is NOT one of the initiatives introduced as part of Make in India?
1. promote foreign direct investment

2. develop the manufacturing sector

3. protect multinational companies

4. implement intellectual property rights

Correct Answer :-

» protect multinational companies

26) Read the passage carefully to answer the given question:

Most of his wife's opinions were heirlooms, and he took a quaint pleasure in tracing their descent. She was proud of their age, and saw no
reason for discarding them while they were still serviceable. Some, of course, were so fine that she kept them for state

occasions, like her great-grandmother's Crown Derby; but from the lady known as Aunt Sophronia she had inherited a stout set of every-day
prejudices that were practically as good as new; whereas her husband's, as she noticed, were always having to be replaced. In the early
days she had fancied there might be a certain satisfaction in taxing him with the fact; but she had long since been silenced by the reply: "My
dear, I'm not a rich man, but I never use an opinion twice if I can help it."

How did the husband’s opinions differ from the wife’'s?



1. They were always as good as new
2. They were always serviceable with no reason to discard
3. They were always having to be replaced

4. They were practically never having to be replaced

Correct Answer :-

o They were always having to be replaced

27) Read the passage carefully to answer the given question:

Most of his wife's opinions were heirlooms, and he took a quaint pleasure in tracing their descent. She was proud of their age, and saw no
reason for discarding them while they were still serviceable. Some, of course, were so fine that she kept them for state

occasions, like her great-grandmother's Crown Derby; but from the lady known as Aunt Sophronia she had inherited a stout set of every-day
prejudices that were practically as good as new; whereas her husband's, as she noticed, were always having to be replaced. In the early
days she had fancied there might be a certain satisfaction in taxing him with the fact; but she had long since been silenced by the reply: "My
dear, I'm not a rich man, but I never use an opinion twice if I can help it."

What were practically ‘as good as new’ and inherited by the wife?
1. quaint pleasure opinions

2. everyday prejudices

3. serviceable heirlooms

4. stout set of practical ideas

Correct Answer :-
« everyday prejudices
28) Read the passage carefully to answer the given question:

Most of his wife's opinions were heirlooms, and he took a quaint pleasure in tracing their descent. She was proud of their age, and saw no
reason for discarding them while they were still serviceable. Some, of course, were so fine that she kept them for state

occasions, like her great-grandmother's Crown Derby; but from the lady known as Aunt Sophronia she had inherited a stout set of every-day
prejudices that were practically as good as new; whereas her husband's, as she noticed, were always having to be replaced. In the early
days she had fancied there might be a certain satisfaction in taxing him with the fact; but she had long since been silenced by the reply: "My
dear, I'm not a rich man, but I never use an opinion twice if I can help it."

What is the implication when the author calls the wife’s opinions ‘*heirlooms’?
1. that they gave pleasure

2. that they were about her hair

3. that they were inherited

4. that she was proud of them

Correct Answer :-

« that they were inherited

29) Read the passage carefully to answer the given question:

Most of his wife's opinions were heirlooms, and he took a quaint pleasure in tracing their descent. She was proud of their age, and saw no
reason for discarding them while they were still serviceable. Some, of course, were so fine that she kept them for state

occasions, like her great-grandmother's Crown Derby; but from the lady known as Aunt Sophronia she had inherited a stout set of every-day
prejudices that were practically as good as new; whereas her husband's, as she noticed, were always having to be replaced. In the early
days she had fancied there might be a certain satisfaction in taxing him with the fact; but she had long since been silenced by the reply: "My
dear, I'm not a rich man, but I never use an opinion twice if I can help it."

According to the passage, the wife’s everyday prejudices were inherited from ?
1. the Crown derby

2. Aunt Sophronia



3. her husband

4. her great grandmother

Correct Answer :-

« Aunt Sophronia

30) Read the poem carefully before answering question:
Once upon a midnight dreary, while I pondered, weak and weary,
Over many a quaint and curious volume of forgotten lore—

While I nodded, nearly napping, suddenly there came a tapping,
As of some one gently rapping, rapping at my chamber door.
“'Tis some visitor,” I muttered, “tapping at my chamber door—

Only this and nothing more.”

Ah, distinctly I remember it was in the bleak December;

And each separate dying ember wrought its ghost upon the floor.
Eagerly I wished the morrow;—vainly I had sought to borrow
From my books surcease of sorrow—sorrow for the lost Lenore—

For the rare and radiant maiden whom the angels name Lenore—

Nameless here for evermore.

And the silken, sad, uncertain rustling of each purple curtain
Thrilled me—filled me with fantastic terrors never felt before;

So that now, to still the beating of my heart, I stood repeating

“'Tis some visitor entreating entrance at my chamber door—
Some late visitor entreating entrance at my chamber door;—

This it is and nothing more.”

Whose loss is the poet mourning?
1. maiden Lenore

2. forgotten lore

3. a late visitor

4. bleak December

Correct Answer :-

» maiden Lenore

31) Read the poem carefully before answering the given question:
Once upon a midnight dreary, while I pondered, weak and weary,
Over many a quaint and curious volume of forgotten lore—

While I nodded, nearly napping, suddenly there came a tapping,
As of some one gently rapping, rapping at my chamber door.
“'Tis some visitor,” I muttered, “tapping at my chamber door—

Only this and nothing more.”

Ah, distinctly I remember it was in the bleak December;
And each separate dying ember wrought its ghost upon the floor.

Eagerly I wished the morrow;—vainly I had sought to borrow



From my books surcease of sorrow—sorrow for the lost Lenore—
For the rare and radiant maiden whom the angels name Lenore—

Nameless here for evermore.

And the silken, sad, uncertain rustling of each purple curtain
Thrilled me—filled me with fantastic terrors never felt before;

So that now, to still the beating of my heart, I stood repeating

“'Tis some visitor entreating entrance at my chamber door—
Some late visitor entreating entrance at my chamber door;—

This it is and nothing more.”

What is the rhythmic structure evident in the first line?
1. iambic pentameter

2. spondaic hexameter

3. anapestic monometer

4. trochaic octameter

Correct Answer :-

e trochaic octameter

32) Read the poem carefully before answering the given question:
Once upon a midnight dreary, while I pondered, weak and weary,
Over many a quaint and curious volume of forgotten lore—

While I nodded, nearly napping, suddenly there came a tapping,
As of some one gently rapping, rapping at my chamber door.
“'Tis some visitor,” I muttered, “tapping at my chamber door—

Only this and nothing more.”

Ah, distinctly I remember it was in the bleak December;

And each separate dying ember wrought its ghost upon the floor.
Eagerly I wished the morrow;—vainly I had sought to borrow
From my books surcease of sorrow—sorrow for the lost Lenore—

For the rare and radiant maiden whom the angels name Lenore—

Nameless here for evermore.

And the silken, sad, uncertain rustling of each purple curtain
Thrilled me—filled me with fantastic terrors never felt before;

So that now, to still the beating of my heart, I stood repeating

“'Tis some visitor entreating entrance at my chamber door—
Some late visitor entreating entrance at my chamber door;—

This it is and nothing more.”

What does the poet eagerly wish for even in the midst of his sadness?
1. visitor
2. books
3. books of sorrow

4. tomorrow

Correct Answer :-



e tomorrow

33) Read the poem carefully before answering the given question:
Once upon a midnight dreary, while I pondered, weak and weary,
Over many a quaint and curious volume of forgotten lore—

While I nodded, nearly napping, suddenly there came a tapping,
As of some one gently rapping, rapping at my chamber door.
“'Tis some visitor,” I muttered, “tapping at my chamber door—

Only this and nothing more.”

Ah, distinctly I remember it was in the bleak December;

And each separate dying ember wrought its ghost upon the floor.
Eagerly I wished the morrow;—vainly I had sought to borrow
From my books surcease of sorrow—sorrow for the lost Lenore—

For the rare and radiant maiden whom the angels name Lenore—

Nameless here for evermore.

And the silken, sad, uncertain rustling of each purple curtain
Thrilled me—filled me with fantastic terrors never felt before;

So that now, to still the beating of my heart, I stood repeating

“'Tis some visitor entreating entrance at my chamber door—
Some late visitor entreating entrance at my chamber door;—

This it is and nothing more.”

Which of the following figures of speech best describes the use of the words ‘tapping’ and ‘rapping’ in lines three, four, and five?
1. Alliteration

2. Litotes

3. Personification

4. Onomatopoeia

Correct Answer :-

* Onomatopoeia

34) Read the following notice and answer the given question

Green National School, Mathura

NOTICE

28 January 2019
This is to inform all students that our school is organizing a 2 day field trip to the Wipro Industrial Estate. The details are as follows:
Classes: VIII to X
Dates: 23 February to 25 February
Those who are keen on registering for the trip must pay 1500 rupees to Ms. Ritu, Biology teacher before 31 January.

Principal

Where will the students be going during the field trip?
1. Mathura Industries
2. Wipro Industrial Estate

3. Biology lab in Mathura



4. Fields near the school

Correct Answer :-

* Wipro Industrial Estate

35) Read the following advertisement and answer the given question.
ADVERTISEMENT

KENDRIYA VIDYALAYA, AMEERPET

Walk-in Interview for part time SQUASH COACH on 3rd July, 2018 at 10 a.m at the Vidyalaya campus. For more details please visit
kvameer@kv.in. Eligible candidates must attend the interview with original and attested copies of educational qualification and work
experience. No TA/DA will be paid for attending the interview.

Sd/-

Principal

What are the documents that the interviewees ought to carry to the interview?

1. Both Notarized and photocopies of documents related to education and work experience
2. Both original and attested copies of documents related to education and work experience
3. Only attested copies of documents related to education and work experience

4. Only original documents related to education and work experience

Correct Answer :-
» Both original and attested copies of documents related to education and work experience
36) Read the following poster and answer the given question
DJ SCHOOL CLUB
is
organising a Diwali Mela
to
bring light and happiness into everyone’s life
Venue: TK Stadium, North Campus
Date: 7th to 9th November
Time: 6 p.m. to 9 p.m.
Entry fee: Adults 20/- Children 5/-
Let’s make this Diwali cracker free
Sponsored by

Ronex

Which of the following statements is not true based on the information from the poster?
1. The Mela is sponsored by Ronex and organized by the DJ School Club

2. The club will charge an entry fee for those who wish to join the Mela

3. The organizers will distribute free crackers during the celebrations

4. There will be no pyro techniques displayed during the Mela

Correct Answer :-

» The organizers will distribute free crackers during the celebrations

37) Read the following letter and answer the given question.



Dear Dev

How are you? I am sure that your studies must be keeping you busy. I am glad to tell you that I have now been selected to the theatre
group. We have a play coming up next month at Rangashankara. It is a big deal. Remember, we had once met the who’s who of theatre and
cinema at Rangashankara. Maybe, my dream might come true and someone will notice me for a small role in the movies. Well, enough of
day dreaming. How are things at your end? When is that big test of yours? Do write to me as soon as you could.

Yours truly

Jo

According to the letter, what does Jo hope might happen at Rangashakara?

1. he will be noticed by an influential person who might offer him a role in the movies
2. he will be introduced to the greatest personalities from theatre and cinema

3. he will fumble his part in the upcoming play and lose his face

4. he will win the best actor award at the upcoming play

Correct Answer :-
» he will be noticed by an influential person who might offer him a role in the movies

38) Read the following letter and answer the given question.

To
The Recruitment Officer
Anganwadi, Bidar

Dear Sir,

I wish to apply for the post of Anganwadi worker at Bidar. I have completed my Matriculation with First class. The Principal of my school,
Bidar High School, is willing to give you a reference for my conduct. Please consider my application. I will work hard and do my best.

Thank you.

Kishan Raj

Fill in the details based on the letter.

Name:

Post: ____

Education:

Referee:

1. Recruitment Officer, Anganwadi worker, 12th Grade, Principal of Bidar High School

2. Recruitment Officer, Anganwadi worker, First Class, Principal of Bidar High School

3. Kishan Raj, Recruitment Officer, Matriculation, Anganwadi worker at Bidar High School

4. Kishan Raj, Anganwadi worker, Matriculation, Principal of Bidar High School

Correct Answer :-
« Kishan Raj, Anganwadi worker, Matriculation, Principal of Bidar High School

39) Read the following letter and answer the given question.
To
The Editor

The Hindu

Dear Sir,



In response to the news about the Municipal Corporation of Hibbalpur converting the public park into a bus stand, I would like to express
my strong displeasure as a citizen. There are very few public parks in the Hibbalpur locality. Moreover, shifting the bus stand there will
increase pollution in an otherwise clean residential area. The Corporation is sure to face more severe protest from the residents of Hibbalpur
in the coming week.

Yours faithfully,

Krishna Swamy

What would be the dominant tone of this letter?
1. complaisant

2. congenial

3. irate

4. insolent

Correct Answer :-
e irate

40) Read the following letter and answer the given question.

To,
Communications Skills Training

Munnar, Kerala

Dear Sir,

I write to enquire whether your company would offer a 5 day Communications skills workshop for our new recruits at HR Customer
Services, Munnar. We have a group of 25 fresh graduates who need training in customer interaction, etiquettes, presentation and such
other skills. If you could send us the details about your training program, the cost, and the trainer profile, we could fix an appointment
accordingly.

Thank you
Manager

HR Customer Services

Which of the following are among the details that the Manager asked for from the Communications Skills Training company?
1. the details about the program offered by Communications Skills Training

2. the profile of the new recruits at HR Customer Services

3. the cost of several communication skills materials available in the market

4. the cost of their Time Management course

Correct Answer :-
« the details about the program offered by Communications Skills Training

41) Read the following letter and answer the given question.

Dear Kaite

I hope you are well. I am waiting for the summer holidays. I'm writing to you because I want to invite you to visit me during the holiday
season. We could visit the heritage centers and museums or spend the day at the movies or wander around the shopping malls. Let me
know what you think. We could plan everything then.

Hoping to see you.

Jainne

Which of the following is not one of the things that Jainne suggests she and Kaite could do during the summer holidays?

1. spend the day at the movies



2. visit the heritage centers and museums
3. go swimming on the sunny beaches

4. wander around the shopping malls

Correct Answer :-
» go swimming on the sunny beaches

42) Read the following instructions and answer the given question.

Follow these guidelines when there are children with disabilities in the class.

FOR MATERIALS

* Get audiobooks through services like Bookshare, a free online library for students with disabilities
» Provide pictures of directions and schedules

« Use large-print text for worksheets

« Simplify directions with key words for most important ideas

» Provide colored strips or bookmarks to use when reading

According to the instructions given, which of the following options is not among the things that a teacher should do for the students with
disabilities?

1. Use audiobooks whenever possible
2. Use simple, key words to give important directions
3. Provide notes in advance for all the chapters in the text

4. Provide colored bookmarks to enable them to track their reading

Correct Answer :-

« Provide notes in advance for all the chapters in the text

43) What is one of the major drawbacks of the structural approach?

1. it taught language in meaningful contexts that learners could relate to

2. led to a fragmentation and trivialisation of thought by breaking up language into structures and skills

3. It gave learners language that could be used in real life situations instead of just the ability to use correct sentences in classrooms

4. it bridged the gap between “linguistic age” and “mental age”

Correct Answer :-

« led to a fragmentation and trivialisation of thought by breaking up language into structures and skills

44) What is one of the major problems faced in the implementation of the Continuous and Comprehensive Evaluation (CCE)?
1. teachers largely consider CCE as an integral part of the assessment process

2. the teachers integrate the assessment with the teaching-learning process

3. it is considered by teachers as an external activity that is to be followed after the completion of a topic/lesson

4. it is given significant attention by teachers to integrate into the teaching learning process

Correct Answer :-

« it is considered by teachers as an external activity that is to be followed after the completion of a topic/lesson
45) What is a major aim of remedial teaching?

1. to enable detention practices that would instill fear in a child

2. to dictate notes of every chapter so that a child could learn everything by heart



3. to put a child through grueling hours of drill so that he despises learning

4. to bring a child to minimal acceptable levels in each class

Correct Answer :-

 to bring a child to minimal acceptable levels in each class

46) What is the role of grammar in teaching language?

1. sensitise the child to language-sound structures

2. develop the imagination

3. reconstruction of the meaning of the attempted expression through imperfect English

4. tool for increasing the language repertoire and for understanding the construction of text “rhetoric” and argumentation

Correct Answer :-

« tool for increasing the language repertoire and for understanding the construction of text “rhetoric” and argumentation

47) What is the one of the methods adopted by the government to tackle the challenge of the multilingual nature of the Indian society?
1. the grammar-translation method

2. the information technology curriculum

3. the modern language policy

4. the three language formula

Correct Answer :-

« the three language formula

48) In mother tongue learning, speech progresses from ____ through ____ to
1. one word, one sentence, several sentences

2. one sentence, two sentence stage, multi-sentences

3. one phoneme, a few morphemes, multi-vowel stage

4. one word, two word stage, multi-word sentences

Correct Answer :-

» one word, two word stage, multi-word sentences

49) According to Norbert Schmit (2000) “whereas the of a language is largely in place by the time a child is 10 years old ...,
continues to be learned throughout one’s lifetime.”

1. grammar, vocabulary
2. order, structure
3. structure, order

4. vocabulary, grammar

Correct Answer :-

e grammar, vocabulary

50) Listening and Reading proficiency in language learners mainly develop ___ skills.
1. expression

2. comprehension

3. articulation

4. delivery



Correct Answer :-

» comprehension

51) Which one of the following is NOT a correct statement?
1. Writing is an important Language Skill

2. Listening is an important Language Skill

3. Reading is an important Language Skill

4. Reckoning is an important Language Skill

Correct Answer :-

» Reckoning is an important Language Skill

52) Which of the following statements is true in the context of sentence construction in a language?
1. when compared to organizing words, there is no order of organizing sentences in any language

2. Like in the case of organizing sentences, there is no order of organizing sentences in any language

3. as compared to the level of sentences, language is more tightly organised at the level of words

4. as compared to the level of words, language is more tightly organised at the level of sentences

Correct Answer :-

o as compared to the level of words, language is more tightly organised at the level of sentences

53) Which of the following is an important consideration when choosing teaching materials for a class?
1. need to be as confounding as possible in the extend of texts that will be used

2. need to be sensitive to perspectives of equity (gender and societal) and harmony

3. need to be rigid and inconsiderate to the cultural and local contexts of learning

4. need to be circuitous when deciding the concepts to be dealt with in class

Correct Answer :-

« need to be sensitive to perspectives of equity (gender and societal) and harmony
54) Which of the following is one of the aims of teaching English Poetry?

1. enable students to solve puzzles

2. enable students to write an essay

3. enable learners to prepare reports and brochure

4. enable learners to appreciate rhythm and feeling

Correct Answer :-

 enable learners to appreciate thythm and feeling

55) In the case of English words like ‘fun’, ‘rain’, and ‘fish’, how would you convert them into adjectives?
1. add ‘ion’ at the end

2. add ‘in’ at the beginning

3. add ‘y’ at the end

4. add ‘a’ at the beginning

Correct Answer :-

e add ‘y’ at the end



56) Choose the closest meaning of the underlined phrase in the given sentence.

The act of burying a dead person sometimes becomes mundane for an undertaker.

1. Internment
2. Interstitial
3. Interment

4. Intermittent

Correct Answer :-
e Interment
57) Choose the closest meaning of the underlined phrase in the given sentence.

After the event he felt weak and tired.

—

. encomiastic
2. energized
3. enervated

4. engineered

Correct Answer :-
« enervated

58) Satish was out of office when he got a call from the onsite supervisor asking him to immediately send the office assistant with the BMP approval form to the
Head Office in Andheri. Govind, Satish’s colleague, has to fill the following out of office form passing on the message.

(Name), send with to in Andheri.

1. Office assistant, Govind, BMP approval form, onsite supervisor
2. Govind, Satish, Head Office, BMP approval form
3. Satish, office assistant, BMP approval form, Head Office

4. Satish, Govind, BMP approval form, Head Office

Correct Answer :-
» Satish, office assistant, BMP approval form, Head Office

59) Change the given sentence into direct speech.

He urged them to be quiet and listen to his words.

1. He wished, “that they were quiet and listening to his words.”
2. He enquired, “are you quiet to listen to my words?”

3. He exclaimed, “you are quiet and listening to my words!”

4. He said, “be quiet and listen to my words.”

Correct Answer :-

» He said, “be quiet and listen to my words.”

60) Change the given sentence into indirect speech.
He said to them, “will you listen to such a man?”

1. He asked them to listen to such a man

2. He asked them whether they would listen to such a man.
3. He said that they will listen to such a man.

4. He said to them that they will have to listen to such a man.

Correct Answer :-



* He asked them whether they would listen to such a man.



